What tells us that Alice has only just entered the kitchen?

1 mark

How many people are sneez'mg?

1 mark

They are sneezing because of (ring one):
the smoke an allergy to the Cheshire cat pepper in the air. 1 mark

The baby is sneezing and howling alternately. What does ‘alternately’ mean?

1 mark

What container holds the soup?
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mark

How is it heated?

1 mark
Who does the duchess call ‘pig?

1 mark
What does to ‘get into a conversation’ mean?

1 mark
The word ‘timidly means

1 mark
The Cheshire cat is sitting ‘on the hearth’. What is a hearth, and why do you think
the cat was sitting there?

2 marks

m Which words explain that the Cheshire cat had a wide grin?
1 mark
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